
 
Equation 1: number of fissures 
 
Assumptions: 

- Ffis is the fraction of the cell are covered with fissures 
- the cell is a square: Δx=Δy 
- fissures are evenly distributed throughout the cell and they are perpendicular to each 

other  
- the number of fissures in x direction is equal the number of fissure in y direction:  

Nfis,x = Nfis,y 
- fissure length is equal the length of the cell: Lfis = Δx=Δy 
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Equation 2: length of matrix block 
 
Assumptions: 

- all fissures in the cell are bounded by matrix blocks 
- the number of matrix blocks in x and y direction is the same and equal: 

 Nmat,x=Nmat,y = Nfis,x+1= Nfis,y+1 
- the total number of matrix blocks within the cell is: 

 (Nfis,x+1)* (Nfis,y+1) 
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